Geometry H Name : \C?.-g

1.4 — 1.5 Quiz Review Date : Period:
1. Find m£LABC and mZCBD . 2. Find mZEFH and m/HFG.
A
c H
X (3x— 10)° _ (3x—6)°[(2x+ 16)>
E 8 D 3 E G
DX-10:90  MEAB(s 3 BY+10=180  meEfY = qp°
6X=(00 M0 = 5Q° %110 mepre - e
X:ZO x:bq

3. The measure of one angle is three times the measure of its complement. Find the measure of each
N TN
angle.
X =3(ao-X 6.5
(q0-%) oncangie: 1.8 e need
X:370-3X other © 22.5° 7 4o sum 10907
Yx:=370 o5 x=-b1.§

4. An angle is 24 degrees less than twice the measure of its supplement. Find the measure of each angle.
W i

X= 2(180-%) -24 0
2
one angie = I Heseneed 10

%= 360-a%-a4 °
Other < 0% Sum 1o \80°
3%:330b
A={12°
5. The supplement of an angle is 6 more than 8 times the complement of the angle. Find the measure of
each angle.
; 1y - 6N one angle = 71%°
150-X = p+ §(a0-X) i &8
\§O-X: 6+ T20-§X% *= 18
womp = (2°
- : 120-& X

{80 +I% = 11
6. Use the diagram to the right :

K Z
. o . o b
a.Find mZKPL 90 b.Find mZLPN &4~ *_:, 28° q’p 56 M

Sb 26
o o/ qo
c.Find mZMPN 2% d. Find mZMPO 124 A




/'0
“’qo \ -9

Solve for x and y.

7. 8.
1M
(Ox+ 27 (10X + 77
(18y+ zsr\
Ax+q=1600  1¥Y+26-97 13y =16y-27 %4117 = \$0
WA= \8y-To “3y<-11 SNETA

Please find the values of x and y and then find all angle measures.

9 10.

D 0 - (Bx + 5O}
ol g, =R
1420780 yegochh B4t0=19-9  2(6n-5)- bx+G0
Yx =160 @ 5:29-9 WA -10 = bx+50
WA= 00

\_‘E'-t_o—l 4 Ly

] Y

11. Point B is in the interior of ZCAT. If mZCAB = (3x—16)°, m£LBAT = (7x—8)°, and
mZLCAT = (3x+ 60)°, please find the measures of all three angles.

oY= 24 = 3X+60 me(AB= 20°
Th=§Y mcBAT= 16

I [ﬂ] meCAT = 90
(3x+60)° T

12. ZA4 and £B are complementary angles. If mZA4 =(2x” +35)° and m£B = (x+10)°, then what

. when X=4.5
are the pc;ssuble measu—res of both angles? meA = 15,5‘; meg= 4S° ¢
2% +36 tX+10°90 2X (X+6) -9(X+$) = 0 i
me = g¢° 65 4« When Xz-6
'1‘1* X"‘"\'g"qo (ZX_q)(fo):o 9 gs ! mLe

= N
2%+ %-46: 0 m{

2 - =
2x’+10% -4x-4§ =0 R yoth X-volues wone



3
13. Given that £A4 and ZB are supplementary angles, and mZA4 =(§x+50)° and m4B =(x+31)°
find m£A4 and m4£B.

:&,3— X460+ X+3) = \K0

1 -
§Y\+8\ (%0

Ll =€
g X 19
Xx=1a
14. BD bisects ZABC. Please find mZABD, mZDBC, and mZABC.

X% X-40z 2%+ 16 MCABD = 20°

._.2,

X1+ X'G(o: O . (2.\‘+].6)° P
ol = 30 B 7 i
(x+§)(%-1)= 0 (x* +3x— 40
e 3 e ABC: 60°
7

doesnt work ecause )
2(-5)+16 =0 (angles wnthave O )

15. Let Q be in the interior of ZPOR. Use the angle addition postulate to solve for x and find the
measure of each angle.

mZPOQ =(x+4)° = |2

mZQOR =(2x—2)° = 14°

m/POR =26°

X +2%X22 = 20
X421 20
5,(:2\4 > X=¥

16.Draw a

D is in the interior of £ B rior of ZDAF, Fis in the interior of LZEAC

mZBAC =130°, mLEAC = = mLEAF =mAFAC

Then please find#7ZBAE.

s ¥ one ©)



17. Given ﬁ bisects LABC. Find the value of x.

2X+36=6%-22
\ A
N\ (2x+36)° 3x=51

/(5x-22)°
}L‘i__)____,___ ]><=\‘i 2
c

18. E bisects LABE and ﬁ bisects LEBC. Please find m/ZDBF

MZDBF = 50440 = ﬁﬂ

19. /1 is supplementary to 22 and £2 is supplementary to £3. If mZ1 = (5x—48)° and

m/3=(2x+30)°. Please find mZ£2. Bavy - 22§ . ExtY=228
4+22:180 42+¢¢3 =180 (2x+y=160) < -9x-§ = -\§0
- =
Hx-4g +Y=\§0 Y +2x+30° 150 3% =18
bX+Y=228 2x4Y2150 > 52y=IfD k=26

AN X 20 If mZFCB =(18x+6)° and mZGCB =(13x-9)°, find mZLGCF,
')

—
CG bisecrs < FCB meGOF = B(3)-9
Br-4+13%x-9 - |X+0 |m¢0(,F=30°/
20X -\g-|€X tb
gx =24
[x=3]




L]
21. if m«Kand m.J are supplementary, and m«K is 5 more than 6 times the m.J, then mzK = 195"

X+Y = (€0 X =6+bY
Etpyey =180 X= 60 (2¢)
19=115 > Y725 AR 5e

22. 21 and 22 are supplementary angles. 21 and «3 are vertical angles. If m£2 = 72°, what is m«3?

| 12° ' mdﬂogoi
&

me] = 10g°

23. ZAand /B are complementary angles. ZC and ZD are supplementary angles. Find the measures
of the four angles, if mZA =2x°, m£B=6y°, mZC = (6x + y)°, and m/D = (4x + 2y)° .

35\1“091‘10 3 'L\Hb\éz"lo 3 i‘@:j‘fo 30'!’6\3:"10
ohey rUkey 1§02 (l0%4dy=IR0)  T2OKTRY” x by~ 09
‘\%Y\ = -a10 ‘ |0 l
mep=30°  wmeC= \o0° L

b 60" mep= g° LX:_\()_‘

24. Find the values of x, y, and z, and then find the measure of each angle in the diagram below.

2Ux +33 =150 3y+a=3§

2\x =% 3y=30
28 (6x+ 3 > By 2P 3¢ [x:1] [9-1a ]
4z =143

|'%=36.6?

25. Given the diagram to the right, what are the possible measures of both angles?

% 16X + 230 =180

1

**416x450=0

(x+10)(x+$) =0
(5x 4 184) 4 {x2 + 10x + 46) =
4}'\ B [‘;

A=-10, X=-§

MeABC= 5(-10) 18y me cB D= (1) 1o(-10) +40
= -50+RM \'—' Y¢© l

- Iuaq"[ —
e (B0 = (<)% w(-5)+4b

MeAB s 5(-6) tikY < -25+18Md =‘\9‘1°) l_i\_ )



